
https://konkur.info

https://konkur.info


https://konkur.info



  
    

  

( ) 
                         

    

( )            

( )              

  

  

( )           

( )           

( )             

   

  

   

  :    :   

     

  

https://konkur.info



 
14/7/1402  

  1414      14014022
  

 
             10    .         

70006250550047504000  
      10  

  

 ( )64321

( ) 65321

( )     76532

:  60   :70 

          

      
  

(  )

1 ( ) 20 1 20 30 

2 ( ) 20 21 40 20 

3 ( )   20 41 60 20 

 

https://konkur.info



   14  1402  :4

  

A

B

C D

EO

11

1

0

2

11 - 0= ∅ ∅          

1( 8  2 (16  

3( 15  4 (7  

2 -   2 4= −  2= − − +           

1( 4  2 (3  

3( 2  4 (1  

3 -       50                .   5   

1( 1
32 (1

2

3( 8
154 (2

5

4 -              .      

1( 5

2 (3 2+

3( 5 3+

4 (8

5 -  245 7 3 3 5− − −  

1( 16 6 5−2 (16   

3( 3 5 7−4 (2−

)( :  30 

  

https://konkur.info



   14  1402  :5

  

A

B

C

N

DQ P

M

M

A

C
N

B

D

x

64
0

66 -  
Δ

               .

1( >2 (>

3( >4 (>

7 -        .  >       

1( >

2 (<

3( >

4 (>

8 -   =  =      

1( 056

2 (058

3( 060

4 (064

9 -      3
2      

1( 6
32 (2 6

3

3( 6
94 (2 6

9

10 -  2 5 3 3 7 33 2 2 3+ + +× = ×        ∈

1( 1= −  1= −2 (1= −  1=

3( 2=  1= −4 (2= −  1=

https://konkur.info



   14  1402  :6

  

x

y l

111 -      

 (2 20 5 0 6− −> (3 40 3 0 3− −> (08 115− < 

 (2 25 5− −− = − (10 00 95 10<

1( 2  2 (3  

3( 4  4 (1  

12 -      2 22 3 4 12 9+ ≤ + +  2 28 10 4 3 2 2+ + < − − − +  

1(∅2 (   

3( 04 (0−

13 -          3 4 3 9− = − +      6       

 

1( 1= −  7=

2 (7= −

3( 1= −

4 (7=

14 - 3
=

5
2=

+
 7

8=                    0≠

1 (22 2+ − = −2 (1 13
− − = −

3 (4 2 3−= +4 (4 22− + = 

15 -         
53 1 1 12

2 3 1 0 2

+ + + =

− + + + =
       

1 (0 8−2 (0 2

3 (0 2−4 (0 8

https://konkur.info



   14  1402  :7

  

16 - 3 2
5

5 4 20 24
+

+ − +
        

1 ({ }0 2 32 ({ }5 0±

3 ({ }5 0 2 3−4 ({ }0 2 3 5

17 -  
2 2 2

2 2
16

3 3 36 9
− +

−
− − −

(.     )  

1 (5
3 3

−
+

2 (5
3 3

−
−

3 (5
3 3

−
−

4 (5
3 3

+
+

18 - 2 2= − 2 2= +  2=          0≠ ≠

1 (
2 2

2 1−
=2 (

2
2 2 2 2− =

− +

3 (+ =4 (
2 2

2−
= −

19 -                .   16 3
9
π     .

       

1 (5 4 32 (2 2 6 2

3 (2 7 5 34 (2 3 2 2 2

20 -    5        8          .    3π

1 (216  2 (152  

3 (284  4 (116  

https://konkur.info



   14  1402        :8

221 -     

»                      .   

    » « » .«     » «          

              .» «        

   .       «

1 (  2(    3 (  4 (

22 -            

»     » « » «                     

       .        «.

1(      2   (  3   (   4  (  

23 -              

   :   /  :  /  :  /  :  /  :  (

 :  /  :  /  :  /  :  (  :  / 

(    :   /  :  /  :  /  :  /   :

 :  (  :  /  :  /      :  /  :  /  

1 (» « »«2 (» « »«  3 (» « »«  4 (» « »«

24 -    

1          (        

2          (       

3 (                  

4      (     

25 -      

1        (      

2 (               

3       (                

4 (             

)( :  20 

  

https://konkur.info



   14  1402        :9

226 -» «      

1       (       

2      (           

3        (         

4       (       

27 -  »    «    

1  (      2   (  

3          (4   (         

28 -        

»              «

1 ( .           

2 ( .         

3 ( .         

4 (     .       

29 -   

»               «

1     ( .  2     ( .  

3     ( .  4    (  .  

30 -    » « 

1       (      

2        (       

3         (      

4         (     

https://konkur.info



   14  1402        :10

331 -            

1       (    (  )

2 (                  ) (

3        (        (  )

4   (            (   )

32 -    

1           (        

2        (       

3       (        

4  (          

33 -          

»             «

1  (   2(   3(     4 (   

34 -        

»            «

1  ( 2  (

3  (4  (

35 -        

1 (»    /     «

»       /        «

2 (»        /         «

»     /     «

3 (»          /   «

»            / «

4 (»         /     «

»       /     «

https://konkur.info



   14  1402        :11

336 -        
1  (         /         

      /      
2       /          (

     /           
3       /        (

      /       
4        /        (

             /   
37 -         

»               «

(                  

 (                 

 (              

 (          

1 (»« »«  2 (»« »«3 (»« »«  4 (»« »«
38 -       

»           «

1    (              

2       (     

3     (    

4       (      

39 -  »          /        «    
1 (                  

2 (                  

3 (              

4 (               

40 -              
1 (                    

2 (                         

3(                   

4 (              

https://konkur.info



   14  1402        :12

  :       )41-45(

41 -»               !«:  ..... 
1 (          !     
2  (           !     
3  (                !  
4      (             !  

42 -»              !«:
1   :      (               !
2    :      (           !    
3     :      (              !
4     :      (              !

43 -»               !«:
1   (                   !    
2         (         !  
3   (                 !        
4  (                !       

44 -»         !:«  

1 (      !2 (    !

3 (     !4 (     !
45 -      

1 (»          :«             
!  

2 (»         :«          !    

3 (»          :«            !

4 (    :   »   :«     :   »!    «

  )( :  20 

  

https://konkur.info



   14  1402        :13  

446 -         

1 (!          

2 (           !  

3 (     !  

4 (!                

47 -    »!        «   

1       (         /!

2       /        (!  

3 (      /      !  

4  (        /         !  

48 -              

1 ( -  -   2 ( -  -     

3 ( -  -     4 ( -  -   

49 -               

)...  .... ) (  .. (....  ) ( 

1 (      2 (      

3 (      4 (    

50 -        

1 (  =     2 ( ≠   

3 ( =     4 (  =   

https://konkur.info



   14  1402        :14  

551 - »!         «          

1(!          

2(!          

3(        !  

4(!          

52 -    . . . »!      «      

1 (    2 (     

3 (    4 (  

53 -           

1 (!              

2 (       !    

3 (    !      

4 (    !        

54 -       »45  «  

1 (   –     

2 (   –      

3 (   –     

4 (   –     

55 -     »       . . .      . . .  «!  

1 (  -     

2 (   -     

3 (   -      

4 (   -      

https://konkur.info



   14  1402        :15  

556 -           

    (!      
 (»     «  

       (!       
  (!       

1  (  2  (  3  (  4 (   
57 -      

1 (       !  

2 (     !  

3 (    ( )  !  

4 (  !      

         :      )58 -60( 
  

             :           »  
       «         :( )   »    

           .               
 «.  

58 -             
1    ( .        
2 (    .  
3.          (  
4   (      .  

59 -          

1 ( –  –      2 (  –  –     

3 ( –  –      4 (  –  –     
60 -          

1 (   2 (  3 (  4 (  
  

https://konkur.info



https://konkur.info

https://konkur.info



